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Find the lateral 
surface area of a 
cube that hos o 
height of 6 m. 

Find the lateral surface areo. «) 
l not -thL 6 h.a J.,.<l 

s«s) 

17 in. 

Find the total surface area. 

12 cm. 
/ 7\ 

1 I 1/23 cm. 
'--· ___ ___, 2 cm. 

Find the surfoce oreo of 
o rectongulor prism if 

the length is 5.2 cm, the 
width is 8.3 cm, ond the 

height is 9 .1 cm. 

Find the total surface area. @ 

SffOW VJOlt~ MEJ.9 '1f 
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Find the totol surfoce oreo. 
/ : / 

: 20m. 
' ' 

> - - - - - V.m. 
6m. 

length = 29 (t) 
Width= 3.5 

Height= 7 

Find the totol surface 
oreo of the rectangular 

prism. 

Coro hokes o rectangular (!} 
coke that is 9 inches wide, 

13 inches long, ond 2 inches 
high. She removes the coke 
from the pon to frost it. How 

many square inches of 
frostino does she need? 

Find the total surface area. (!) 
•-~ 

4 m. 

The surface area of a box is 
592 meters squared. The 

base of the box is 12 
meters by 10 meters. What 
is the height of the box? 

Retnemhe.r : yo~ do nat 
-Pro&-t--tk. bot/om of ;;-eaJ(c 



Bob is pointing a room 
that is 20 ft. long, 15 ft. 
wide, and 9 ft high. How 
many square feet is Bob 

going to point? 

The total area of the 
rectangular prism is 112 

in' • What is the value of x? 

X in. 

3 in. 

in. 

find the lateral surface area. 

No+ -fkl. 
5NIJ., 

• 5,J.,,,,, . :J' 3.7 cm. ~-
5.4 cm. 2.1 cn1. 

Find the surface area of the box 
excluding the shaded base. 

Find the lateral surface areo. 

9.8 It 

2.7 ft. 
2ft. 


